COMMERCE
PAPER—II

Note : This paper contains fifty (507 objective-type questions, each question carrying
twio (2 marks. Atternpt all of thern

1. Whatis the target of CDP growth rate envisaged in the 10th Five year plan ?
(&) 10% ® 9% () B% @) 11

(C)  Enwvironment Protection (L Atomic Energy peneration

2. Kyoto Protocol is relating to 0
(&) Competition (B)  Consumer Protection O

¢
5.  Which of the following should be achieved by abusiness l%ve earliest ?
(&) Budgeted sales (B) Break-even Hin

() ROI C) Market
4. What does the lower Debtor-Turnover Rah% .
(&) Quick recovery (B recovery
()  High Debtors ne of the above
5.  Price discrimination policy essing profits in case of -
(&) Perfect competiti 1 Monopolistic Competition
() Monopoly Ly Olipopoly
b. oas-price elasticity of dernand in case of complementarmy products wall
2
(B} Negative
} both (L) Zero

n of relati onship present between twvo variables is called :
Correlation (B}  Repgression
(<) Dispersion (L Location

8. RAM stands for :
(&) Random Access Mernory (B) Readable Arcess Mernory
() Read A Marhine (L) Read A memaory
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LEERESSI
qE: T UETA H v (50) a5 T ¥ Wels WE Rt () % T wlt vl o=
i |
1. 3oE Te=HiT IR H T 3cWe 9ig (CDP) =0 1 <0 oren Fyife oy mm 32
(&) 10% B 5% (C) 8% (Cy 11
2. <0 W T Hafa 0
(&) wideny (By IS S
() SAERW G (O TR Fall See
*
5. Tl smoiER e i wtans Mt § 9 S T
(&) FifE T B W EP)
(o T woen a1ei (RO in) ~¥T)
4. T 91T gt Sen) - Toh | 7o = &f‘
(&) W IR
Q) =ifw TR H g =
5. TFgoemd Figq 4 i T Bl ©
(A) U THHcHF S (&) Hrmfafes i
(C) T AR, (D) FEHTERI =T

H FT T FG-TEH (Cross-Price) @F F1 T HE1 TN ?

1tive) (B HEHHF Tegative)
Ly A
7 H oy i T T el 5 2
e (Correlation) (B) LGIEGE (Fegression)
(Cy T (Dispersion) (D) WERTH (Location
8. H(RAM) FIYHEIT :
(&) Er Ty HEE By e T=om Be
(< 2T HEA Oy T BEd
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9.  Aorording to Dawid C MeClelland, an individual s tgjor motive to work incdude the

need for ;
(&)  Achievernent By Affiliation
() Povger Ty Al of the above

10. In the line and staff form, the function of staff is to

(&) Obey the line (B) Serve the line
() Inform the line (L) Advise the line
11. Branding decisions are based on : 0
(&) IMarket Research By fssessment of custormer n@
(C)  Costof the product Oy (&) and (B) above
\ 4
12. Which element of the promotion mix do wholesellers pri ray on to achieve their

promotional objectives ?

(&) Advertising By Trade Prpmgo
(C)  Personal Selling (DY Dire

15. What are the Considerations in desi structure of acorporate ?
(&) Trading on Equity st of Capital
21 of the above

(Cy  Profitability ﬁ
14. Which of the fl:ulll:nwing% irventory valuation results in lower valuation of
B

inventory and low i inflation is on the rise ?
(&) LIFO B) FIFO

() Simple od Ly Weighted average method

(B)  IManagers
Al emnployees

sum total of emotional and informational behaviour is called :
(&) Motivation (By Talent () Intuition (DY Atfitude

17, MNABARD has been established on the recornmendation of
(&) Talwar Committee (B) Tandon Cornrmittes
() CRAFI CARD (L James Fg Cormimd tree
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10.

11.

12,

15,

14.

17.

2fag i Heet~2 o HT9E T AT & i i F =0 w0 e e 7
(&) T ®) e (Cy  wf=d (D) Te ol

AR a1 T o T T T R R -

(&) T 1 I T By  WET HI Yl

(C) @B Fl AT FAH (D) AR T TGHY <

W1 T emt-ue o] 1 e =w T

(&) Heh2 fd (B) i =i HETTRaial =i YR

(C) TeE i AR ([C) SR (&) 97 (B) O

< ol 1 e T 3 S = W g Y T e W e )

(&) To (B) <% THEE
(Cy  =aferd Tasht () Wed&] HehiaT
e =1 =1 Y] T o <01 W o= @
(&) <R AH TR (E)
(C) T FA B
<= et TRIfd W W 2 T 21 3 Hedich w1 i H Ay 5=l 3w Hein
AT FH A9 il TH oA
(&) T B T
(Cy  HMEW Oy =g Hyd Ty
AR
(B) WEHH
(O HHE FEEE

R G e R e CC C R L T T e T i
(&) W =R GE (Cy R FH (D) “TRE

TS (NABARD) g =1 Tamifm w=m s T ¥
(£)  TEER B) <= FHE
(C)  HTHI IS (D) =Y Tl ]
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18,

19,

20,

21.

22,

Reserve Bank of Indiais .

(&)  an extension wing of Minds ty of Finance, Government of India.

(BY abody Corporate, having perpetual suocession and a Cornmon Seal.
() an institution owned by Indian Banks Assodation.

(L a Private Sector Comparty.

A Derivative is a:
(&) Derived asset (B) Derived financial seset
(Cy  Derived from net assets () MNone of the above

Intellectual Property Rights are pertaining to : O
(&) Medicines already patented <

By Matters published on or before 1990

() Import of goods and services

(D) MNone of the above @ ¢
Which one of the followdng pairs is not correctly ma@

(&) Capital Expenditure | Transportation cos ne

By Funds Flow Staternent : Working Capd

() Reduction of Share Capital : Recons tWQgtio
Oy Contribution : Sales — Cost

Consurmer attains equilibrium B irnises his utility, given his income and
market prices of two produc
(It Marginal rate of sulgstit oe equal to the ratio of cormmodity prices ie.
MU
MRS, = ——L=—t
(IIY  Indifference cl@fre if convex to the origin.

er (Iynor (I} is true

Chi-Square test is used to measure the Association between two
attributes.

Reason (R) :  We apply Non-pararmetric tests like Chi-3quare test for data measured
on week scale like Nominal Seale or Ordinal Scale.

(&) (A)is frue but (R iswrong

(B)  (A) iz wrong but (R) is frue

(Cy  Both (A) and (R) are wrong
(T}  Both (A) and (R) are true
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18,

19.

20,

21.

22,

fiste St % shem T e, ¢

(&) O TR 1 o T = e T W

B) T T W Common Hia 3 920 F0 F:% T 331 oy #71 #feas w4 o 12 2w
(C) TR U He Tm = = sfer dad Wi T

(D) T7=i1 40 =i F=rit

’@‘iﬂﬁaw%:
(&) TeuEes geafd & Teusse f=in e

(C) e uwfad 43 O) = FE = O

wifgeh Heta o AR (IFR) 1 Toory Tl 27 ()
(&) el < T e 4 Rfee

By 1950 W3 Y TEet i TR HHET 0
() wwfaa =gl e T

(D) T & FE =

EGREIEIE T ER S RECr (R
NI CIRCE] : mﬂqaﬁ
By TR el TR

(Cy  w s H A
(D) el

IANTH i Hrger T

() iR aﬁm
MRS =

F FeAd F
2l ®&) EFE (D) T@ ) W
(11 &1 21 (D) aF B8 g e e 2

O 3 AIH & 99H o & <

A) : 2 (FE =AM LW THET H UHY i TOH T
THIOT (R) : 74 SHED FA=E I T T < £ o1 e w9 2 e €
(&) (A) HE T (R) TAA )
By (&) Terd T T (R TR T
() B (A) T (R) T E
(T aFT (A) 997 (R) HE1 2
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24. Asserfion (A) : A Manager delegates authority
Reasoning (R) : Manager wants to shrink his responsibility.
(&) Both sssertion and reasoning are correct.
By  Asserfion iz wrong but ressoning is correct.
() Asserfion is correct but reasoning is wrong,

(L) Both assertion and ressoning are wrong,

25.  Arrange the following concepts /acts in the order in which they came into fogfe

{1y  Competition Act

(iiy Foreign Bxchange Management Act. 0
(i) Consumer Protection Act

(iv) Securities and Exchange Board of India Act. O

Code :
(A iy Qv 4y ) @ ¢
By v @)y @) )

(C) @ Qg 4w ()

@) ay @ @) v @o

26, How are the following items arrange eiability side of the Balance Sheet of a
Company ¥
iy Current Liability and Prowvisi
(iiy  Secured Loans
(i) Share Capital

(iv) Unsecured Loan

[y

(v) Reserve and 5
Code :

)W R e ) W)
B i) i) dv) W)
© & @ )

(v) @ @ @)

ticity is corremonly stated in the form of

( 1% change By 5% change
() 5% Ly Al of these

28, Which testwe normally apply for Qualitative data ?
(&)t test By F test
(C) x° chi-square test Ty ‘=" test
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24, FIT:  TF WeEE T ATHFRE T GRIT FEH T
WHOT: WU AT TAwigw] i e R v
(&) R YT TY7 AW HR
(B) e Terd ¥ o 0 e T
(C) e e F T A T ¥ )

(DY ZHT e 797 0 TE TR R

1y e T
(ify  TRIM
(i) Il Heem AT

(v) HeT arfufmm @ *
3‘7?3'* O

25, T T s o 39 & H H hA-=g hifey fag | o9 7ige § #dl ¥ 0

(/) ) Qv 4) @)

B vy @y 4 @)
(S @y dv) ()
Ly gy @ @) fv)

b

26. TR FO o TR Tagn & e i TR s H Fmi e
iy R SR T e @

iy e =W
(i) FHW il

(v) IR
GELSERE

i) @v) ()
i) @v) ()
i) v} @)

i) @) v

=

A T 1 = o foe . B
(&) 1% TRk By 5% TREdA (C) 5% (Cy T2l

28, HEFTE: B9 TR SRED W R A W AT R
(&)t B F = () 22 Ta-Team o (D) 'z 4%
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29,

30,

31.

32,

Consider the following steps of process of decision - making and select the correct
SEqUENCE

iy Defining the problem.

(iiy  Selection of best alternatives and implementation
(iil)y Considering liriting factors.

(iv) Considering alternatives.

Code :

(f) @ @) dil)  dv)
By ) @ av) @)

(C) @ v @) @)

@ @ @y v Q
A mark eting concern generally taps sources for finandng its activitie 1T
(&) Cmamed Capital By Bank Credit \ 4

() Trade Credit Ly Al of the abo
Corsider the following steps in the process of Q
iy Identificaion of investtnent proposals %

iy Fixing priorities. &

(iii) Ewvaluation of various prl:upcusals

(iv) Selection and preparation of Eidgets.

(v)  Implementation

(wi) Performance Reviews

Which of the sequeru:e of t is correct
() @ G (111]' (vi)
B ay @ (1)

@ @ ) (n r:v) (vi)
) I:m; (n (v)  (v)

ecruitrment
Training and Developrment
Code :

(£ Qi) @) v Q)
By ) @y @ 4v)
(C) @) @ v @)
@) ) vy @) Q)

D—0806 10



29,

30.

31.

i o 1 wfEm F e =i o AR AR T S
(i) TS i TR

(ify T TRl i a9 ] R

(iif) WS o =hi T

(iv) Toehetl T =R

FE:

(&) @) () Qi 4v)

B)  qi) ) 4wy )

(O @ v @) @)
) @ @y dv) @) 0

HU IHRHI 1 FA=E AEHTIRAH i 9 A o T, TR AT 4 IEE RS ICE]
S T 7
ENERECIRC] (B) S hfge (C) %@&ﬁ@ (D) TE =y

e srifen @i whEm H Feefafag =i w faew GE) el
@y T w1 e

(i) TR e %

ity TAT1 WEAE e

(iv) “hUTZE o T T R W

(v  SREI R

(vi)  SRATTSEA HHIET
FE:
(A @) ) @) (i)

By ) @ ;W ()
() @ i) (e v (i)
L) @ f@ii)‘ oW Wi

Fi T = 1w Ea

(£ Qi) @) dv) Q)
(B i) @) d)  4v)
(S qi) @ 4w )
(L) quy @vy @) Q)
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33. E-bankingis synormimous with
(&) Tele - Banking By Internet Banking
()  EBuro Banking Ly MNone of the above

54. Arrange the following in the order of their inception :
i) WTO
(iiy  World Bank
(ili) SAFTA
(iv) ADE

Code :
(A) G Gvy @) (i) 0
By Gy @) v i)
(C) vy @ d) )
Ly @ vy Q) )
55. Match the following @
List - I List - II ()
(2) Capital Market @) IRDA
by Monetary Policy (iiy SEBI @
() Telecom (1if} &
(dy Insurance (1w} TR
Code :

(wy (B3 (&) (d)
(£ ) @iy @ fv)
B ) @y @v) Q)
(C) ) vy i)
L) a4 )

List - II
iy Ignores future profit estimations
(i)  Mormal basis for valuing assets
(iif) Rewvenues and expenses of a parficular period

(iv) Relates to relative size or importance of itemn
or event

(£ @) Gv) @) )
By af  diy vy Q)
(C) @) v @ )
L) v @y ) Q)

D—0806 12



55. IS T

(&) el - ST (B)  EwtE - TR o

(Q T (D) T 4 FE
34. T FF F o7Rad o AW F ATHE FEAG AL

@ sd

(i) S S

(i) HRA

(v) WEIHE

. Q)
(&) ) vy 4y ()

B @) @ 4w d)

(S v Q) 4 @)

) @ v @) @) @ *

35. WE-1 =0 TG E-11 1 0E i Ha e ()

ECICIE
by HE A
SEECIETS
(dy S

FIT:
(wy (B3 (&) (d) @
(£ Qi @y 4)  av) \

(B) a) Qi) 4v)

(S ) 0w @@
Oy ) @ Gl
@) o9 F g enedl 1 Shen T

| (i) ORE=RE S TeishT = Y
< o1 g i)y TRdl oM w=y o ue S0
ELGRT | (iv) TSR TR G HE W =S h Heeddl 9 sieal 5

(y  (B) (e3 (d)
(£ @) v) @) i)
By an @y dv) Q)
(S ) gvy @) @)
L) av) @y 4 Q)
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37. Match the following

Group -1 Group - II
(Products) (Mark ot Structure)
() Food Grain iy Monopoly
by Adr-Lines il  Pure Competifion
(c)  Railway (iiiy Monopolistic
(dy Cars (iwv)  Olipopoly

Code :

) (B ey (edy
(&) @) ) qu) dv)
B ) vy 1) ()
(C) au) @ Qv )
Ly vy (@) Q) d)

58, Match the following
Group -1
(ay Simple Random Sampling
(by  Stratified Random Sampling
() Cluster Sampling
(dy  Systernatic Sarmpling
Code :
(y  (B) (e3 (d)

(£ @ @) @) v
By qi) @ v ) @
(C) @ dv) i)

©) () () (@) G

39, Match List - Iwith I and select the correct answer using the codes given belows
the lists :

* List - 1I

"5 Name) (Theories)
iy  Hygene Theory
(iiy ¥ and Y Theories
(iif) DMeed Hierarchy
(ivy Z Theory

(e (d)
(£ @) @) @) v
By ah @ 4w )
(C) vy @y ) 4

L) qi) @ v )
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37. WE-1 1 TR © FE-11 1 T3 7 o o

T Tor-1
(s @ T i) HHRIYRE
0y THT TR (i) TS oyl
(c)  YETEs iy  HEfeTeER
(d) =FH (iv)  HeH TR R
FIE:

(y  (B) (e3 (d)

@& @ ) @) @)
® ) (v @ @)
(O @) O @) W
O Gv) @) @) O

38. WEI-1 =1 Tl § FE-11 =1 53 0 e o @ ¢
Toi-1 Tu-1

(o) Toewt Fer i @ FAfafEm

by  TEREE Fen UeuET ) e

(c) e H=afed (iif) T BARES]
(dy Toefer Tt (iv) TR,
FIE:

(wy (B3 (&) (d)
(£ @) @) i) dv)

B) i) @ 4w d) @
Q) ) @ ) %
(L) ) (g ;@

(T98T (Theory))
G EERZT
(i) X a9y “ill
(ify 1% TR
(iv) “e-e]

() (B} (63 (d)
(£ @) ) @) v
By @ Qv) i)
() v} @y i) @)
L) @) @ dv) @)
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40. Match the following :

Part - A Part - B
(Market Sepm entation) (Factors of Segmentation)
() Psychographic iy Personality groups
(by  Demographic (i) Occupation
() Behawioural (iil) Brand Loyalty
(dy Geographical (iv) PFopulation Size

Cade :
ta) (B ey (d)
(&) ) )y 4w ()

B oy @ @) v @ ¢
(C) @y i) @v)
L) ay @ 4w () @

41, Match the following

Part - 1 art - I1
_ _ Total Debt
{2y Total Debt Ratio (i} Capital Bmployed
Debt - Baui + .. TotalDebt
®) = qu1t5r® W Networt
_ _ _ . Capita Employed
(£)  Total Cagital ¢Equity Ratio (iif) T

ERBIT
Interest

aoverage Fatio i)

()
(i)
By ah @ i) dv)
(C) @ @) 4w )
L) @ @ v )
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40, TE-1 % -1 9 fHaE st

eI qe-1
(e TR ( Forrt=hant 3 )
(8) THHERTHR iy T T
by IR (i) HAYEM (occupation)
(c) AR (iify wig ™ m

(dy i (iv) ST HAERE

- Q
fay (B (&) (d) O

(#) @) @) Qv) )

By @ @) v ¢
(9 @ @) @) v

(L) a @ dv) )

41. EN-1 1 H& 9 gE-11 1 HE aﬂﬂaﬁaﬁ&

Tl
(2) e HW Rl HIT @ (i)
, , B
by W T I (Y e——
o G YE A Y R ——
FIEE
et ) e

()
(f) @ @) @) dv)
By ah @ @) dv)
(S @ @) 4v) )
L) @ @ 4w )
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42, Match Iterns from List - I with the Itermns in List - 11

List -1 List - I1
{2y Psychoanalytical Theory {1y Strong inter linkapes
by Sdentific Management Approach (i) Personality
(c)  Subsysterns of HRM (i) Task
(cdy Basic elements of a Job vy FW. Taylor

Code :
fa) (B3 (o)  (d)
(A) ) dvy ) i)

By qp  diy @ dv)
(G @ @y @) v
L) ay  @vy @) Q) ()

45. Match the following L 2

List -1 List - 11 %
(Mame of the Bank) vear of Estdblish

(ay 5Bl iy 1990

(b} SIDBI (i) 1955

(©) NABARD i) 19 @

(d)  EXIM BANK (iv) 2

Code :

(g (B (e (d)
() ) @ ) av)
& @ @) dv) i)
(© ) i) )
©) ) @ @@
g -

L 2 List - II

essing Zones) (Location in City)
desh i)  MNoida
(iiy  Chennai
(i) Falta
Andhra Pradesh (iv) Visakhapatanam

(wy (B3 (&) (d)
(£ Qi) @) av) Q)

By oy @ @) v
(C) @ a4y i) v
@) © @) 4w )
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42, TE-1 1 =& 1 ER-11 6 e S e e

To-1 Toi-11
(2) Tl wid @) TEd 3 fedeg,
(by S T fafy (i)  =Ifeae
(C)  THEE HUEE F1 3 GOl (iif) =R (Task)
(dy IR A H{E T (v) THSw], Tt
FIF:
(y (B (&) (d)
(£ (i) vy 4) ()
B a4y G 4y dv) 0
(© @ g 4y av)
(L) g vy Wy 4 ()
43, WEI-1 91 76 O WE-11 1 78 v foerd 2
Toi-1 Tu-1
(= = ) (R )
(8) SR W SR iy 1990
by T (i) 1955 @'
(c) e iy 1981 &
(dy TUfeeH o (v) 19
FIE:

Q@ (i) @)

Ly ay @ @Q
44, TEI-1 1 96 @ TR HE] 1 Hef T -
4

() (B} (63 (d)
(/) ) (1) @) fv)
B @ ) Qv) ) ‘

ta) (B ey (d)
&) @) @) @) @)
® @) @ @) )
(O @ @ @) @)
O @ @) ) )
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Read the following passage and answer the guestions from 45 te 50.

“Full Convertibility”

The Prime IMinis ter feels that the rupee’s full Convertibilityis an ideawhose
tirne has come, and since these things are unstoppable, we might as well prepare
aroad map for it This is salutary. Of course, aroad map to Convertibility is
quite differentfrom Conwvertibilitritselt. A committee headedby Dy, O Ranparajan
had prepared one such road map in 1997, The road map lost it way, thanks
the Asian financial crisis that soon broke out. &s India suocessfully wear

the contagion, policy-makers thanked the absence of full conwvertibili ty.

hare changed signiticantly since then. It's not just that our forex Ve B
ballooned to a size that should resssure the most worreprone of ceRjeal kers
on the count of perceived adequacy. India is now recogriz fhE‘f\fDrld as an

econotry that wall sustain high growth. The combined fis tidt of the Centre
and the States is on the way down, along apath marled by stones of deficit
reduction mandated by laww. This grants the ce b e Hlexibility it needs
in monetary policy in aregime of uncontroll der capital movernents.

d
Import duties hawve corme doven si gnifican tly, Wecin g@0mpanies to acquire genuine

international competitiveness, and do ormlends ahand to the process.

The rupee’s movement against urrencies is no longer steadfastly

dowrmeards. A couple of s eir backlash have greatly enhanced the

quality of capital marketr | these favour Convertibility, But that is
not enough.  3ince on agents external exposure impacts another’s,
thesystern mustall coflsequences of such exposure towork its way through,

fast. Finandal repQaitnglnust improve, the market for corporate control must

| oyrnent of the assets of failed firms via liquidation must happen

eans shedding its allergy to FII sub-accounts right nowe

Wiy vwaas the road map to Corrvertibility lost its vy ?
(&) Low foreign exchange reserve

By  Ineffective repulatory frame work

(C) High fiscal deficit

(D) Asian Financial Crisis
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Frer FT Uit a5 B 50 7% Fv 3 3905
ot gfige=taa

T Tl 7YY i R e ) ufE e e T T A e
T T AT HGH S, F AT Y T I e o Sl Fd: T 9 ST auE
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EECh e TR G Al K o i @ e =y
= = W T AR 9 ST R SeehTe Yol =T Y el
Tafdi 1 e e 21 4 i 1 TEEH! F T AR T Fw! Tal
1 o T =iy wfaewal THL T A ST S, WO A =i =ied T
TS 3 A i 37T a1 w7l W ST =, T

& Triam & fam AT HE 3 T2 RIS ol OiEatal i R
B W T HICEh TREFTReE] o TAFAT i T AR Y
T, 7T Wﬁ%ﬁﬂﬁﬁ@mmﬁﬁ]

<t A W e @ R o o am e e
K

T 0 =R | TE W TehE e W= Fi Tiieef i fhd

z 1 Y2HY <0 o =T ?
(&) A faemi-fafma e

@) FvaE! SfFEmE g

(O I T T

(D) ufaaE ol Hehe
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46. Which of the following factors contribute to full Convvertibility 2
(&) Eeoonormy is prepared to sustain high grovweth.
(By  Tax reforms and low fiscal deficit
(Cy  Good Forex reserves and an efficient Central Bank.
Oy All of the abowe,

47. Whatwe need for full Convertibility ?
(&) Political wall

By A Corerdttee of Experts 0
()  More Institutional Strength

(D} Financial reforms

<"

43. “Financial Reporting rmmust improve™ It refers to

(&)  Indian Econotry Q

B RBI

(C) FI1 &

(L Companies

49, Selling of doubtful debts to a thi collection of the debts is called
(&) Factoring Service
By NP .ASJervice

(C) FII3ervice
(L) RESh‘uc’mrm%

50.

pital Mark et Scarms

Incressing Foreign Exchange Reserve

-0 o-

D—0806 22



46,

47,

43,

49,

Trefafad B 9§ i W 0 e faaam o Hed § 7
(&) Feferewen 3= THRM 1 He 0 & fod T T
B 2o TEE A e fin we
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